Efficiency vs dr

x 0.2
<
©0.18
20.16
c
Q
50.14
=
®0.12
0.18}
0.08E| -k
0.06FH -t
0.04ff +:
0.02[} -4

Ratio

0.9

=

0.8L

DQMstep3_SMS_CKF
DQMstep3_SMS_default

DQMstep3_SMS_ckfPixelLess

107

1072 L 1
TP min AR

[ Efficiency vs dr (track,jet) |

§ 0.2:

0 0.18F

) E

D: —

<]0.16:

20.14F

5; o

q_) -

o -

£ 0.1:

(] F
0.08
0.06F
0.04F -+
0.02F

o OF

S

@ s
0.9F

1072

Efficiency vs pu

1
AR(TP, jét)

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005

e

Ratio

104

i

10 20 30

40 50 60 70 80

Pileup

-1



	Contents
	Page 1


